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College Algebra

math in the
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Which of these square numbers also happens to be
| the sum of two smaller square numbers? /'
oA 16 x. B: 25 |
-C: 36 ‘0 49
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Which of these square numbers also happens to be
the sum of two smaller s numbers? 4

<A 16
36
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doesn't know math, he doesn't know how much money was lost
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Which of these square numbers also happens to be
the sum of two smaller square numbers?

36 - 49

Pl o) 218/238 «© @ % [« [




Baby Grace




Other Exponential Growth Application

Human Cell _
Insulin gene

Grow in culture Extract insulin
Recombinant Transgenic

’ Plasmid bacteria

O

Bacteria

Plasmid



Grace’s Heart Condition

« “It’s nice talking to a numbers guy” Ventricul
entricuiar

 Rigorous habit of thinking. Septal Defect
(VSD)
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Financial Decisions

Better to buy down the mortgage
or save it?

Better to buy down interest rate
or keep closing costs small?




ther Decisions

Health insurance plans

W-4 Tax form

Claiming depreciation

Retirement plans (lump sum vs.
monthly payments)

Require reasoning on par with college
algebra

Deductible

Out-of-pocket maximum

i (not applicable for maternit

TCP PLAN COSTS

S100

5100

5250

;o000 individual
oo famil




Service

Monday, Mar 11, 2019 - 10:02 AM

e 23? Does it stay there and
become 237(25t)?

This feels like a silly question. But
if you have 23e”(25t) (thats just
a totally random number) and
you do In to cancel the e, what
happens to th

Wednesday, Mar 27, 2019 - 10:47 AM

Alright Jared, I'm doing linear
programming. | think I've got it
3/1119,10:02 AM mostly figured out, but|can't

figure how to find where the two
It's a little messy: In(23e~(25t))= ‘

lines intersect. Help?
In(23) + In(e”(25t)) = In(23) + 25t

‘ Oh wait maybt ¥ jot it

® [ Text message
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